Lea State “R" (NCT=A) Nos 1 - Anderson Ranch - Devonian

Drill stem test No., 1 - 9715-9815! Wolfcamp formation. Recovered 1801 fluid,
120t gas cut mud and 60" slightly oil and gas cut mud cut 1 with oil, No
water, Hydrostatic pressure 4865, flowing pressure 140-185¢, 30 minute bottam
hole pressure 15204, 2 hour test,

Drill stem test Nos 2 = i~1/4 hour test 9820~9962' Wolfcamp foration, Gas to
surface in 3 mimites, 2,743,500 cubic feet, Mud to surface in 8 minutes, oil in
15 minutes, Flowed 373460 barrels 42 gravity oil & 41420 barrels sudphur water in
4 hours through 5/8" choke, 1st flowed 92,60 barrels oil & 10,20 barrels water;
Znd hour 94 barrels oil and 10450 water; 3rd hour 93 barrels oil 10 water; 4th hr.
94 barrels oil and 10,50 water. Reversed out 47 barrels oil & 5 water. Recovered
180t sulphur water below circulating sub. 2J hour rate 2241,60 barrels oil and
27420 barrels water. GOR 1224; hydrostatic pressure 5060#p flowing pressure
3275=~3425#; 30 min, bettom hole pressure 357544

Drill stem test Nos 3 = 5 hour test 13,391-13,410' Devonian formstion, Opened tool
with good blow air throughout test, Recovered 10,800t fluid, 1380! water blanket &
9450t clean oil, Recovered 60! clean 0il no water below circ. sub, Hydrostatic
pressure 61604, flowing pressure 640~3255#; 30 min, build up pressure L5554

Drill stem test No, 4 - 6 hour test 13,391-13,420t Devonian formation, Tool opened
with good blow of air. Gas to surface in 1 hour 20 mine, too small to measure,
Recovered 12,700t fluid, 1350' water blanket & 11,350t clean oil. Recovered 2!
oll & 10! water slightly salty below circ. sub, Hydrostatic pressure 61604;
flowing pressure 640-3055§; 30 mimute build up pressure 4555#,

DEVIATION SURVEY ~ EASTMAN INSTRUMENT

1/2% 440t 2°- 40251 1-1/4,°= 80501 1°- 109511
1/} = 1280 2-1/2 - 4127 1-3/4 - 8170 3/ = 11061
1/4 - 1550 2-1/h - 4163 2=3/k ~ 8,52 3/k - 11151
1/2 - 1846 1-3/4 - 4323 3~1/l - 8550 3/4k - 11272

1 - 2113 2-1/l = 1,506 3-1/4 - 8680 1-1138
3/b = 2520 2 - 4817 2-3/l, - 8835 3/4 - 11430
/4 - 271, 1-3/4 - 5090 2=1/2 = 5922 1 -1147
2-1/2 - 2926 1-3/4 - 5470 2-1/4 = 9036 1-1/4 ~ 11525
1-1/2 - 3002 1-3/h - 5640 1-3/4 - 9105 3/h - 11580
1-3/k = 4090 1-3/k = 5735 2=1/l, - 9265 3/4 - 11611
2 - 3150 1-3/k - 5840 1-3/4 = 9420 1-1/4 - 11664
2=3/4 - 3268 1-3/4 - 6165 1-1/2 - 9510 1-11776
3 - 3298 1-1/4 - 6320 1-3/k - 9583 1-118n
2-1/2 = 3345 1-3/4 - 6500 1-3/4 - 9815 1-1/4 - 12029
2=1/k = 3414 3/k - 5651 1-1/4 - 9957 1-1/4 =~ 12125
-1/l = 3hdyly 1-1/2 « 6775 2 - 10068 3/l = 12229
1-3/} - 3580 1-1/2 -~ 6877 1-1/2 - 10251 3/k4 - 12272
2 - 3626 1-1/4 - 7031 1-1/2 « 10390 1 - 122%
1-3/k - 3664 1 - 7150 1-1/2 - 10476 1 - 12325
1-3/4 - 3745 1~ 17320 1-3/, - 10603 1/ = 12485
2-3/l - 3838 1-1/4 ~ 7650 1-1/4 - 10712 3/h = 12800
2-1/2 - 3892 1-1/4 - 7842 1-1/4 ~ 10855 1/h < 12904
2-1/2 - 393 1=1/4 - 7978 1-1/4 - 10883 3/k - 12995

3/h = 132281
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